Ifé @ IDO @ PORSGRUND

INSTALLATION MANUAL

MONTERINGSANVISNING
MONTERINGSANVISNING
MONTERINGSVEJLEDNING
ASENNUSOHJE

S
S5
Q
o
S
<
1)
@
<]
N~
N




o I!ﬂ Care Instructions

Skétselinstruktion
SI(ALIM Veiledning for stell
Plejevejledning
Hoito-Ohje

[!ﬂl SE: Saker Vatteninstallation

970.105

2(12) If6 @no @@rorserunn © 09-2021
970.834.00.0(00)



40 cm round -
tap hole left

400x280x160

© 35

R
N

280

400 ——»

40 cm square -
tap hole left

400x280x160

Huomioi kosteussulku kiinnitysreikia tehtaessa.

Kontrollera fuktspérren da ni goér fastsattningsha.
Kontroller fuktsperren nar det lages hull til boltene.
Take the moisture trap into account when drilling

the fixing hole.

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun seinarakenteen.
OBS! Bultupphéangda tvattstall fordrar forstéarkt véaggkonstruktion.
OBS! Servanter for boltemontering krever forsterket veggkonstruksjon.
Note! Screw-fastening basins require a reinforced wall structure.

Posliinituotteiden paamitat tol. + 2 %
Porslinsprodukternas huvudmatt tol. +2 %
Porselensproduktenes hovedmal tol. £2 %

Principal dimensions of the porcelain products +2 %

© 09-2021
970.834.00.0(00)

40 cm round -
tap hole right

400x280x160

© 35

280

A
__

400 ——»

40cm square -
tap hole right

400x280x160

If6

@ IO @ PORSGRUND

e
7> |
750-850

3(12)



50 cm round

500x360x170

160

430
_
- 5/ —
— 725-825

195 mm to be
ordered separately

Huomioi kosteussulku kiinnitysreikié tehtdessa.
Kannakkeet tilattava erikseen pituus 195 mm,
ruuvit M10 x 120 mm tilattava erikseen. Huom!
Ruuvikiinnitysaltaat vaativat vahvistetun
seinarakenteen.

Kontrollera fuktsparren da ni gor fastsattningshal.

Konsolerna bestills separat langd 195 mm, bultar
M10 x 120 mm bestélls separat.

Obs! Bultupphangda tvéattstall fordrar forstarkt
vaggkonstruktion.

Posliinituotteiden paamitat tol. + 2 %
Porslinsprodukternas huvudmatt tol. +2 %

4 (12) If6o ‘@1po @rorserunn

2269 022
> X T
12
*5 170
v
- 185 >
+ + «— 280 —» +
85 | & @ |75
280—
=— M10

T~ —

755-855

M10x120 mm to be
ordered separately @

Kontroller fuktsperren nar det lages hull til boltene.
Beerejern bestilles separat 195 mm,

bolter M10 x 120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket
veggkonstruksjon.

Take the moisture trap into account when drilling
the fixing hole.

Brackets to be ordered separately length 195 mm,
screws M10 x 120 mm to be ordered separately.

Note! Screw-fastening basins require a reinforced
structure.

Porselensproduktenes hovedmal tol. 2 %
Principal dimensions of the porcelain products +2 %

© 09-2021

970.834.00.0(00)



50 cm square

500x360x170

195 mm to be
ordered separately

Huomioi kosteussulku kiinnitysreikia tehtédessa.
Kannakkeet tilattava erikseen pituus 195 mm,
ruuvit M10x120 mm tilattava erikseen.

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun
seindrakenteen.

Kontrollera fuktspérren da ni gor fastsattningshal.

Konsolerna bestills separat l1angd 195 mm, bultar
M10x120 mm bestélls separat.

Obs! Bultupphangda tvattstall fordrar forstarkt
vaggkonstruktion.

Posliinituotteiden paamitat tol. =2 %
Porslinsprodukternas huvudmatt tol. +2 %

© 09-2021
970.834.00.0(00)

2299 @ 22
— 4
125
170
v
« 185 >

M10x120 mm to be
ordered separately @

Kontroller fuktsperren nar det lages hull til boltene.
Beaerejern bestilles separat 195 mm,

bolter M10x120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket
veggkonstruksjon.

Take the moisture trap into account when drilling
the fixing hole.

Brackets to be ordered separately length 195 mm,
screws M10x120 mm to be ordered separately.

Note! Screw-fastening basins require a reinforced
structure.

Porselensproduktenes hovedmal tol. +2 %
Principal dimensions of the porcelain products +2 %

|fb @IDO @Ponsenuun

5(12)



6 (12)

56 cm round

560x440x170

@ 35 #

u u .

A
Y

560

725-825

240/260 mm to be
ordered separately

Huomioi kosteussulku kiinnitysreikia tehtdessa.
Kannakkeet tilattava erikseen pituus 240 mm,
ruuvit M10x120 mm tilattava erikseen.

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun
seinarakenteen.

Kontrollera fuktspérren da ni gor fastsattningshal.
Konsolerna bestills separat langd 240 mm, bultar
M10x120 mm bestélls separat.

Obs! Bultupphéngda tvattstall fordrar forstarkt
vaggkonstruktion.

Posliinituotteiden p4amitat tol. + 2 %
Porslinsprodukternas huvudmatt tol. +2 %

If6o ‘@1po @rorserunn

@ 22
P!
125 170
v
«— 200 —»
I S ke e B
85 20 . ’ 75

>

{ W

\{%
>

M10x120 mm to be
ordered separately

Q@

Kontroller fuktsperren nar det lages hull til boltene.
Beerejern bestilles separat 240 mm,
bolter M10x120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket
veggkonstruksjon.

Take the moisture trap into account when drilling
the fixing hole.

Brackets to be ordered separately length 240 mm,
screws M10x120 mm to be ordered separately.

Note! Screw-fastening basins require a reinforced
structure.

Porselensproduktenes hovedmal tol. +2 %
Principal dimensions of the porcelain products +2 %

© 09-2021

970.834.00.0(00)



96 cm square

560x440x170
@ 35 ¢ _57 60 o 22
28 T Y ?
70
A [N
125 170

L, ¥ \_Ej_/ f

280—
== M0
|
. 750-850
— 725-825 S —— ‘
240/260 mm to be M10x120 mm to be

ordered separately

Q@

ordered separately

Kontroller fuktsperren nar det lages hull til boltene.
Baerejern bestilles separat. 240 mm,

bolter M10x120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket
veggkonstruksjon.

Huomioi kosteussulku kiinnitysreikié tehtédessa.
Kannakkeet tilattava erikseen pituus 240 mm,
ruuvti M10x120 mm tilattava erikseen.

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun

seinarakenteen.
Take the moisture trap into account when drilling

the fixing hole.
Brackets to be ordered separately length 240 mm,
screws M10x120 mm to be ordered separately.

Kontrollera fuktspérren da ni gor fastsattningshal.
Konsolerna bestiélls separat langd 240 mm, bultar
M10x120 mm bestélls separat.

Obs! Bultupphé&ngda tvéattstall fordrar forstarkt
vaggkonstruktion.

Note! Screw-fastening basins require a reinforced
structure.
Posliinituotteiden paamitat tol. + 2 %

Porslinsproduktermas huvudmatt tol, £2 % Porselensproduktenes hovedmal tol. +2 %

Principal dimensions of the porcelain products +2 %

©09-2021 If6 @ino @ rorssrunn 7(12)
970.834.00.0(00)



8(12)

60 cm round
600x440x170

725-825

240/260 mm to be
ordered separately

Huomioi kosteussulku kiinnitysreikia tehtdessa.
Kannakkeet tilattava erikseen pituus 240 mm,
ruuvit M10x120 mm tilattava erikseen.

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun
seinarakenteen.

Kontrollera fuktspérren da ni gor fastséttningshal.
Konsolerna bestiélls separat langd 240 mm, bultar
M10x120 mm bestélls separat.

Obs! Bultupphé&ngda tvéattstall fordrar forstarkt
vaggkonstruktion.

Posliinituotteiden paamitat tol. + 2 %
Porslinsprodukternas huvudmatt tol. £2 %

|f5 @ IDO @ PORSGRUND

57%30 0 22
> X ?
125 170
v
«— 200 —»
v l— 280 —> Y
85 SPE¢ & |75

280—

=— M10

\W\

15 ‘[
v 750-850

M10x120 mm to be
ordered separately

Q@

Kontroller fuktsperren nar det lages hull til boltene.
Beerejern bestilles separat 240 mm,

bolter M10x120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket
veggkonstruksjon.

Take the moisture trap into account when drilling
the fixing hole.

Brackets to be ordered separately length 240 mm,
screws M10x120 mm to be ordered separately.

Note! Screw-fastening basins require a reinforced
structure.

Porselensproduktenes hovedmal tol. £2 %
Principal dimensions of the porcelain products +2 %

© 09-2021

970.834.00.0(00)



60 cm square

600x440x170
@ 35 | o7, 60 @22
"L;J i : K
: ok 7OT 125 |
P90 170
= f 205 -1 '
@ ' <« 200 —»|
440
- A R .l R
85 50 R & 75
«—510——* 4 =

600 ———

{
i

280—

=— M10

T~ ——

|
— — 750-850

725-825 — ‘

240/260 mm to be M10x120 mm to be
ordered separately ordered separately

Q@

Huomioi kosteussulku kiinnitysreikia tehtédessa. Kontroller fuktsperren nér det lages hull til boltene.
Kannakkeet tilattava erikseen pituus 240 mm, Beerejern bestilles separat 240 mm,
ruuvit M10x120 mm tilattava erikseen. bolter M10x120 mm bestilles separat.

OBS! Servanter for boltemontering krever forsterket

Huom! Ruuvikiinnitysaltaat vaativat vahvistetun -
veggkonstruksjon.

seinarakenteen.
Take the moisture trap into account when drilling
the fixing hole.

Brackets be ordered separately length 240 mm,
screws M10x120 mm to be ordered separately.

Kontrollera fuktspérren da ni gor fastsattningshal.
Konsolerna bestills separat langd 240 mm, bultar
M10x120 mm bestélls separat.

Obs! Bultupphangda tvattstall fordrar forstarkt

véggkonstruktion. Note! Screw-fastening basins require a reinforced

.- . I structure.
Posliinituotteiden paamitat tol. + 2 %

Porslinsprodukternas huvudmétt tol. +2 % Porselensproduktenes hovedmal tol. £2 %

Principal dimensions of the porcelain products +2 %

©09-2021 If6 @ino @ rorssrunn 9 (12)
970.834.00.0(00)



Pedestal / Tvattstallspelare / Pesualtaan / Helsgylen

A

‘(&;\\i | 170 \

— 200

705

A4
k_,/ 200 ‘4—41 70 ‘;1—5>‘

195

T Tes

Pesualtaan jalka asennetaan pesualtaan yhteydessa siten, etta pesuallas lepaa jalan paalla.
Sopii pesualtaisiin 56 cm and 60 cm, round and square.

Tvattstéllspelaren bér monteras tillika med tvattstallet, sa att tvatt stallet vilar pa pelaren.
Passar till tvattstallen 56 cm and 60 cm, round and square.

Helsgylen bgr monteres sammen med servanten, slik at servanten hviler pa sgylen
Passer felgende servanter 56 cm and 60 cm, round and square.

The pedestal should be installed together with the washbasin so that the washbasin rests on the pedestal.
Suitable for washbasins 56 cm and 60 cm, round and square.

10 (12) If6 @no @@rorserunn © 09-2021
970.834.00.0(00)



© 09-2021 Iféd @ipo @rorserunn 11 (1 2)
970.834.00.0(00)



Geberit International AG
Schachenstrasse 77, CH-8645 Jona
documentation@geberit.com
www.geberit.com

12 (12)

If6o ‘@1po @rorserunn

© 09-2021
970.834.00.0(00)



